
Time: 10 Minutes Paper Math 4 Total Marks: 10

5th Month, 2nd Week, 2nd Day Syllabus: Unit 5: Exercise No. 5 Q No. 1, 2

Q.No.1 Encircle the correct answer from the following choices. (5)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX

i. 3  109 m   + 5  304 m   = _______.

(a) 7  413  (b) 8  413  (c) 8  513  (d) 9  513  

ii. 6.5   + 4.2   = ________.

(a) 10.7  (b) 10.11  (c) 10.12 (d) 10.13

iii. 122m   + 76m   = __________.

(a) 190m  (b) 192m  (c) 198m  (d) 193m  

iv. 55   – 32   = ___________.

(a) 23  (b) 24  (c) 26  (d) 27  

v. 34   200m   + 92  = __________.

(a) 126  100m  (b) 126  300m  

(c) 126  200m  (d) None of these Zy~ÐÃð7

Q.No.1. Solve: (5) iiii™™™™,,,,::::  ::::1 ÎÎÎÎZZZZwwww����

22   500m
  
 – 10    109m  
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